
A

1.- WITH SOMEONE ELSE´S PLACE THE HEADBOARD IN 
FLAT SURFACE AND ALING THE LEGS.
2.- THEN FIX BOTH LEGS AS SHOWN IN THE IMAGE A AND 
INSERT THE JOINT CONNECTOR IN THE HOLES.

A

JOINT CONNECTOR BOLT
1/4 x 35mm 

JOINT CONNECTOR NUT
1/4 x 17 mm 

DESCRIPTION #
JOINT CONNECTOR BOLT 1/4 x 35mm 8

JOINT CONNECTOR NUT 1/4 x 17mm 8
KEY ALLEN 5/32 2

12345

1141 Y 1101 HBD

ASSEMBLY INSTRUCTION

UI-HBD-E001



ITEM DESCRIPTION #

1TOR043 TORNILLO PERNO UNION  1/4 x 35mm 8

1TUER006 TUERCA PERNO UNION  1/4 x 17mm 8

1HER250 LLAVE ALLEN 5/32 2

12345

1141 Y 1101 HBD

ASSEMBLY INSTRUCTION

UI-HBD-E001


	Hoja1
	Vista de dibujo1
	Vista de detalle A (2 : 13)

	Hoja1(2)

